DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

	Company			IPR Southeast, L	LC	Metals & Mat	erials Engineers, LLC	Granite Inliner, LLC	
ITEM	DESCRIPTION	ESTIMATED NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	18" STORM SEWER RELINING WITH MINIMUM 12.0 mm LINER THICKNESS AT 0-15' DEPTH.	600	LF	\$68.00	\$40,800.00	\$198.20	\$118,920.00	\$66.00	\$39,600.00
2	18" STORM SEWER RELINING WITH MINIMUM 13.5 mm LINER THICKNESS AT MORE THAN 15' DEPTH.	100	LF	\$78.00	\$7,800.00	\$209.30	\$20,930.00	\$67.00	\$6,700.00
3	21" STORM SEWER RELINING WITH MINIMUM 13.5 mm LINER THICKNESS AT 0 – 15' DEPTH.	200	LF	\$75.00	\$15,000.00	\$208.50	\$41,700.00	\$74.00	\$14,800.00
4	21" STORM SEWER RELINING WITH MINIMUM 15.0 mm LINER THICKNESS AT MORE THAN 15' DEPTH.	50	LF	\$98.00	\$4,900.00	\$212.20	\$10,610.00	\$77.00	\$3,850.00
5	24" STORM SEWER RELINING WITH MINIMUM 15.0 mm LINER THICKNESS AT 0 – 15' DEPTH.	500	LF	\$85.00	\$42,500.00	\$225.50	\$112,750.00	\$99.00	\$49,500.00
6	24" STORM SEWER RELINING WITH MINIMUM 16.5 mm LINER THICKNESS AT MORE THAN 15' DEPTH.	50	LF	\$120.00	\$6,000.00	\$231.40	\$11,570.00	\$101.00	\$5,050.00
7	30" STORM SEWER RELINING WITH MINIMUM 18.0 mm LINER THICKNESS AT 0 – 15' DEPTH.	100	LF	\$150.00	\$15,000.00	\$248.40	\$24,840.00	\$123.00	\$12,300.00

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

	Company		IPR Southeast, LLC			Metals & Mat	terials Engineers, LLC	Granite Inliner, LLC	
ITEM	DESCRIPTION	ESTIMATED NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
8	30" STORM SEWER RELINING WITH MINIMUM 21.0 mm LINER THICKNESS AT MORE THAN 15' DEPTH.	60	LF	\$183.00	\$10,980.00	\$248.40	\$14,904.00	\$125.00	\$7,500.00
9	36" STORM SEWER RELINING WITH MINIMUM 21.0 mm LINER THICKNESS AT 0 -15' DEPTH.	200	LF	\$215.00	\$43,000.00	\$271.20	\$54,240.00	\$163.00	\$32,600.00
10	36" STORM SEWER RELINING WITH MINIMUM 24.0 mm LINER THICKNESS AT MORE THAN 15' DEPTH.	100	LF	\$245.00	\$24,500.00	\$271.20	\$27,120.00	\$165.00	\$16,500.00
11	42" STORM SEWER RELINING WITH MINIMUM 24.5 mm LINER THICKNESS AT 0 – 15' DEPTH.	250	LF	\$255.00	\$63,750.00	\$292.20	\$73,050.00	\$249.00	\$62,250.00
12	42" STORM SEWER RELINING WITH MINIMUM 28.5 mm LINER THICKNESS AT MORE THAN 15' DEPTH.	100	LF	\$265.00	\$26,500.00	\$322.20	\$32,220.00	\$250.00	\$25,000.00
13	48" STORM SEWER RELINING WITH MINIMUM 28.5 mm LINER THICKNESS AT 0 -15' DEPTH.	200	LF	\$350.00	\$70,000.00	\$322.20	\$64,440.00	\$295.00	\$59,000.00
14	48" STORM SEWER RELINING WITH MINIMUM 33.0 mm LINER THICKNESS AT MORE THAN 15' DEPTH.	50	LF	\$415.00	\$20,750.00	\$330.20	\$16,510.00	\$300.00	\$15,000.00

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

	Company		IPR Southeast, LLC			Metals & Mat	terials Engineers, LLC	Granite Inliner, LLC	
ITEM	DESCRIPTION	ESTIMATED NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
15	54" STORM SEWER RELINING WITH MINIMUM 32.0 mm LINER THICKNESS AT 0-15' DEPTH.	100	LF	\$450.00	\$45,000.00	\$345.00	\$34,500.00	\$344.00	\$34,400.00
16	54" STORM SEWER RELINING WITH MINIMUM 37.5 mm LINER THICKNESS AT MORE THAN 15' DEPTH.	50	LF	\$515.00	\$25,750.00	\$375.00	\$18,750.00	\$346.00	\$17,300.00
17	60" STORM SEWER RELINING WITH MINIMUM 35.5 mm LINER THICKNESS AT 0 -15' DEPTH.	100	LF	\$550.00	\$55,000.00	\$355.00	\$35,500.00	\$434.00	\$43,400.00
18	60" STORM SEWER RELINING WITH MINIMUM 41.5 mm LINER THICKNESS AT MORE THAN 15' DEPTH.	50	LF	\$618.00	\$30,900.00	\$390.00	\$19,500.00	\$440.00	\$22,000.00
19	PRE & POST CCTV SURVEY 18" AND SMALLER DIAMETER PIPE.	800	LF	\$4.50	\$3,600.00	\$12.50	\$10,000.00	\$21.50	\$17,200.00
20	PRE & POST CCTV SURVEY 21" TO 36" DIAMETER PIPE.	1300	LF	\$5.50	\$7,150.00	\$12.50	\$16,250.00	\$21.50	\$27,950.00
21	PRE & POST CCTV SURVEY 42" DIAMETER PIPE.	400	LF	\$6.50	\$2,600.00	\$12.50	\$5,000.00	\$23.00	\$9,200.00

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

	Company		IPR Southeast, LLC			Metals & Materials Engineers, LLC		Granite Inliner, LLC	
ITEM	DESCRIPTION	ESTIMATED NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
22	PRE & POST CCTV SURVEY 48" DIAMETER PIPE.	400	LF	\$6.50	\$2,600.00	\$15.50	\$6,200.00	\$23.00	\$9,200.00
23	PRE & POST CTV SURVEY 54" DIAMETER PIPE.	300	LF	\$6.50	\$1,950.00	\$15.50	\$4,650.00	\$24.00	\$7,200.00
24	PRE & POST CCTV SURVEY 60" DIAMETER PIPE.	300	LF	\$6.50	\$1,950.00	\$15.50	\$4,650.00	\$24.00	\$7,200.00
25	CLEANING 18" AND SMALLER DIAMETER PIPE.	800	LF	\$5.50	\$4,400.00	\$5.50	\$4,400.00	\$11.00	\$8,800.00
26	CLEANING 21" TO 36" DIAMETER PIPE.	1300	LF	\$8.25	\$10,725.00	\$12.50	\$16,250.00	\$11.00	\$14,300.00
27	CLEANING 42" DIAMETER PIPE.	400	LF	\$11.50	\$4,600.00	\$22.50	\$9,000.00	\$12.00	\$4,800.00
28	CLEANING 48" DIAMETER PIPE.	400	LF	\$12.75	\$5,100.00	\$25.50	\$10,200.00	\$12.00	\$4,800.00

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

	Company		IPR Southeast, LLC			Metals & Mat	terials Engineers, LLC	Granite Inliner, LLC	
ITEM	DESCRIPTION	ESTIMATED NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
29	CLEANING 54" DIAMETER PIPE.	300	LF	\$18.50	\$5,550.00	\$42.50	\$12,750.00	\$12.00	\$3,600.00
30	CLEANING 60" DIAMETER PIPE.	300	LF	\$32.00	\$9,600.00	\$42.50	\$12,750.00	\$12.00	\$3,600.00
31	BYPASS PUMPING ON 18" AND SMALLER DIAMETER PIPE.	800	LF	\$10.00	\$8,000.00	\$5.00	\$4,000.00	\$8.00	\$6,400.00
32	BYPASS PUMPING ON 21" TO 36" DIAMETER PIPE.	1300	LF	\$10.00	\$13,000.00	\$10.00	\$13,000.00	\$8.00	\$10,400.00
33	BYPASS PUMPING ON 42" DIAMETER PIPE.	400	LF	\$12.00	\$4,800.00	\$15.00	\$6,000.00	\$10.00	\$4,000.00
34	BYPASS PUMPING ON 48" DIAMETER PIPE.	400	LF	\$12.00	\$4,800.00	\$15.00	\$6,000.00	\$10.00	\$4,000.00
35	BYPASS PUMPING ON 54" DIAMETER PIPE	300	LF	\$12.00	\$3,600.00	\$15.00	\$4,500.00	\$10.00	\$3,000.00

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

	Company		IPR Southeast, LLC			Metals & Mat	terials Engineers, LLC	Granite Inliner, LLC	
ITEM	DESCRIPTION	ESTIMATED NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
36	BYPASS PUMPING ON 60" AND LARGER DIAMETER PIPE.	300	LF	\$12.00	\$3,600.00	\$20.00	\$6,000.00	\$10.00	\$3,000.00
37	CUT PROTRUDING SERVICE LINE.	25	EA	\$250.00	\$6,250.00	\$10.00	\$250.00	\$248.00	\$6,200.00
38	CLEAN MANHOLE.	50	EA	\$335.00	\$16,750.00	\$1,000.00	\$50,000.00	\$332.00	\$16,600.00
39	LOCATING AND EXPOSING BURIED MANHOLES.	20	EA	\$650.00	\$13,000.00	\$300.00	\$6,000.00	\$644.00	\$12,880.00
40	ALLOWANCE FOR LANDSCAPING/SITE RESTORATION PER SITE.	20	LS	\$2,750.00	\$55,000.00	\$500.00	\$10,000.00	\$2,726.00	\$54,520.00
41	ALLOWANCE FOR TESTING LABORATORY SERVICES PER SITE.	10	LS	\$1,050.00	\$10,500.00	\$500.00	\$5,000.00	\$1,041.00	\$10,410.00
42	RE-ESTABLISH LATERAL CONNECTION (18" – 60" DIAMETER)	10	EA	\$750.00	\$7,500.00	\$500.00	\$5,000.00	\$743.00	\$7,430.00

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

	Company		IPR Southeast, LLC			Metals & Ma	terials Engineers, LLC	Granite Inliner, LLC	
ITEM	DESCRIPTION	ESTIMATED NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
43	PIPE CLEANING (GENERAL) 18"-30" DIAMETER.	200	LF	\$10.00	\$2,000.00	\$12.50	\$2,500.00	\$22.00	\$4,400.00
44	PIPE CLEANING HEAVY CLEANING 18"-30" DIAMETER.	200	LF	\$15.00	\$3,000.00	\$25.50	\$5,100.00	\$22.00	\$4,400.00
45	PIPE CLEANING (GENERAL) 36" – 48" DIAMETER.	200	LF	\$15.00	\$3,000.00	\$25.50	\$5,100.00	\$27.00	\$5,400.00
46	PIPE CLEANING HEAVY CLEANING 36" - 48" DIAMETER PER SITE.	100	LF	\$20.00	\$2,000.00	\$35.50	\$3,550.00	\$27.00	\$2,700.00
47	PIPE CLEANING (GENERAL) 54"-60" DIAMETER PER SITE.	75	LF	\$25.00	\$1,875.00	\$42.50	\$3,187.50	\$29.00	\$2,175.00
48	PIPE CLEANING HEAVY CLEANING 54"-60" DIAMETER.	50	LF	\$30.00	\$1,500.00	\$75.50	\$3,775.00	\$29.00	\$1,450.00
49	ADDITIONAL COST FOR TRAFFIC CONTROL (MAJOR STREETS).	5	LS	\$2,500.00	\$12,500.00	\$500.00	\$2,500.00	\$2,478.00	\$12,390.00

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

Company			IPR Southeast, LLC			Metals & Mat	erials Engineers, LLC	Granite Inliner, LLC	
ITEM	DESCRIPTION	ESTIMATED NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
50	MATERIAL DISPOSAL EACH SITE.	10	LS	\$750.00	\$7,500.00	\$800.00	\$8,000.00	\$743.00	\$7,430.00
51	FLOWABLE FILL	50	СҮ	\$190.00	\$9,500.00	\$105.00	\$5,250.00	\$188.00	\$9,400.00
	TOTAL			\$797,630.00		\$998,866.50		\$773,185.00	
Number of Bid	ds Received: 3								
LSBE Particip	pation Benchmark/GFE (Yes or No)			Y	es	Yes		Yes	
Attendance at	t the Mandatory LSBE Meeting (Yes or No)			Y	es	Yes		Yes	
Separate Seale	ed Price Schedule (Yes or No)				es	Yes			Yes
	NOTES - DETAIL JUSTIFICATION								

Witness Signature: Agent Signature: